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It & v HIeRMInstructions to the Candidates

1. The question paper is in the form of test booklet. All candidates will be assessed on
identical questions.

2. A separate OMR answer sheet is provided to all candidates for answering.

3. Each objective question is provided with a text and/or figures wherever applicable with
multiple answer choices (A), (B), (C) and (D). Only one among them is correct and most
appropriate answer shall be selected.

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Blue/Black)
for writing on OMR sheet and marking the most appropriate answer.

5. All objective type questions carry equal marks of THREE for a correct answer and One
third negative mark will apply for each wrong answer.

6.  Multiple answers for a question will be regarded as a wrong answer.

7. Although the test stresses on accuracy more than speed, it is important for you to use
your time as effectively as possible.

8. Do not waste time on questions, which are too difficult for you. You can go on to other
questions and come back to the difficult ones later.

9. Question booklets have been marked with A or B or C or D or E on the right side top
corner, which is mandatory to be written on the OMR sheet in the box and bubble
appropriately, failing which, the answer sheet will not be evaluated.

10.  Space available in the booklet could be used for rough work, if required. No separate
sheet will be provided.

Before signing the attendance sheet, the candidate should write the Booklet Code in the
attendance sheet,_ Candidates should sign against their names only.

12. At the end of the test (1) Written Test Call Letter(s) with photograph pasted on it
and (2) OMR Answer Sheet should be handed over to the invigilator and shall not
be carried by the candidate under any circumstances. _

*hkkk




| w1 afrer F1s/Question Booklet Code | A]

0 gy wreTs SRTSY § / One ton of refrigeration is equal to

a) 50 kcal/min
b) 55 kcal/min
c) 60 kcal/min
d) 65 kcal/min

02 e et JFTHIUT FHIAT 8 / A perfect gas obeys:
a) sl fATH / Boyle's law
b) <TeH 39 / Charles’s law
€) FW & ail / Both of the above
d) 3TRIFT # A FE 7€ / None of the above

03w FTROT UiEeR F ATGT 1T & & AT9HAT FY gl e & / The temperature of air measured by an
ordinary thermometer is called:
a) USH Fed a9 / Dry bulb temperature

b) 37% o« aT9ATT / Wet bulb temperature
¢) EqfCT AT / Saturation temperature
d) HgelsT AMIATT / Condensation temperature

04 AT H 3T B AT F yirerd & sre € / The percentage of oxygen by volume in air is equal to
a) 32%
b) 23%
c) 21%
d 12%

05 afy arpisenr gar @1 MR 3mEar 100% g, a ST T arsdET QM / If the relative humidity of

atmospheric air is 100 %, the rate of evaporation of water will be:
a) 3Td/ High

b) #HEIH / Medium

c) f%=/Low

d) Y=/ Zero

06 YA g1 AR AT o & T 7y el ST & / The sum of atmospheric pressure and gauge

pressure is called
a) HAY &1« / Normal pressure

b) wIsfde gTe / Natural pressure
c) %l 219 / Total pressure
d) FU1¥ 2T / Absolute pressure

07 S & ReAFr Y ara &/ The freezing temperature of water is
a) 4°c
b) 1°¢c
c) 0°¢c
d 1°¢c
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08

09

10

11

12

13

Tife geliasT womel & TuTRT & weiades Sedar § / The refrigerant leaves the condenser of a
mechanical refrigeration system as a

a) & I« ga / Low pressure liquid

b) 34 ard gd / High pressure liquid

¢) e gre 3T/ Low pressure gas

d) 3= &e 34/ High pressure gas

FTST HFATOT YUTTel SEFATH Sl & / Vapour absorption system make use of:
a) it Feil / Mechanical energy

b) f3egd 3T/ Electrical energy

¢) f3%1a =T/ Potential energy

d) AT 3T/ Heat energy

aTSq FdYse & HUT T a1 AT ARt & AR H aRace el ¥l et & § e @ v
T HASATE?

The complete cycle of vapour compression consists of four fundamental changes of state or
processes. Which one of the following gives the comrect sequence?

a) YER, AT, USH, el

Expansion, vapourisation, compression, condensation
b) YER, TS, HEele, AT

Expansion, compression, condensation, vapourisation
c) aTSUs, YR, HUISe, Heelel

Vapourisation, expansion, compression, condensation
d) HEe, arsqel, HAST, THR

Condensation, vapourisation, Compression, expansion

TS 37GRITNUT YOIl & ThATT ITa#AET 37949 & / The only moving part in vapour absorption system is
a) SlsixeX / Generator

b) @A/ Condenser

c) fegsewRY / Rectifier

d) VFar9g/ Aqua pump

ST A ¥ JFAT ThNss F el ST & / A compressor coupled to a motor exterally is called

a) Hrasc @S / Sealed compressor

b) 37¢f Welsc TS / Semi-sealed compressor

¢) o YehR & s / Open type compressor

d) IWFd # A FIg 61 / None of the above
ﬁmmiﬁaﬁﬁ,ﬂﬁwﬁa@ﬁﬁ?@?ﬁmﬁéﬁﬁ, T &1 3aRe AR sEg argAreT
R @1 AT §1 eha# vefide &7aar §

Two identical condenser coils, with the same intemnal and external temperatures are placed, one in
still air and the other in the tank of water. The maximum refrigeration capacities are

a) arY # T Gzl & T 3 / Greater for the coil in the air
b) Sl Us THTA / Both the same

c) e # W 3l & fAT 318 / Greater for the coil in water
d) wefiae & sTaaTel W) 3R / Dependent on the refrigerant used

| awehfRras & (wehtew @ arreger) - e / Technician B (Ref. & A/C) 2016 - IPRC
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14 ﬁmﬁf@aﬁﬁmaﬁwaﬁﬂmaﬁmﬁmﬁmmh

Which one of the following is generally used in domestic refrigerator?

a) arg-:fifad FERT / Air-cooled condenser

b) Srer-fifaa Henia / Water-cooled condenser

¢) arsqfas HeTRT / Evaporative condenser

d) ag-NfAd a1 STe-2h g genfys s Air-cooled or water cooled condenser

15 q@%mmemmﬁwﬁmﬁammwﬁ
A natural draft cooling tower can be installed
a) =X & 3{gT/ Indoor

b) TRETSax T 319 ST9TE 9 / In a space covered by wall all round
€) d 9/ On the roof
d) gl 5T/ Anywhere

16 ofeer o & st ot erer STt Y i 82
What process makes the water in a cooling tower cool?
a) ¥l / Condensation

b) arSYH / Evaporation
c) TafeRur/ Radiation
d) Tl / Conduction

17 Qmmﬁwtwmﬁaﬁﬁiﬁ%
The loss of water due to drift in cooling tower is in the range of
a) 5410%/5t010%

b) 10820%/10t020 %
c) 307 40% /301040 %
d) 40350 % /40to50 %

18 arqfaeh GFR & deniy 4, Srftereh T N b srar &
In evaporative type of condenser, the refrigerant is cooled by
a) ol / Water

b) ary/ Air
C) A AR STl &)1 / Both air and water
d) Wﬁ@aﬁéﬂﬁ/Noneoftheabove

19 SR et o1 qer & / Capillary tube is meant to
a) Wi ZaRT a8 T 1Y e SAT &CTell / Remove the heat carried by the refrigerant
b) 9N T AT / Meter the refrigerant
¢) AR 5T vefas & v sisr & w9 3 HIA FAT / Act as reservoir for excess liquid refrigerant
d) wefias & g q &g/ Pump the refrigerant

| ARt (wefter IATTZA) - STERRH | Technician B (Ref. & AIC) 2016 - IPRC [ 3]
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20

21

22

23

24

25

weficTsT JuTTel &1 & & / The heart of the refrigeration system is
a) &g IS / Liquid receiver

b) o9 ¥4l / Thermostat

c) TS / Compressor

d) aifSu=/ Evaporator

ﬁﬁlﬂﬁé@ﬂaﬁ?ﬁﬁwﬁmwmﬁ%‘ﬁhe purpose of fitting a fan to a finned coil
evaporator is to »
a) 9lcleT &TaT I §gl= / Increase the refrigerating capacity

b) welde & SiideT @l agT= / Prolong the life of the refrigerant
) YEHA WHNSH ¥ ol1g & &H 4T / Ease the load on the compressor on starting
d) et s ¥ 3gfed @1 SeT / Increase the frequency of refrigeration cycle

TaTaR el & TN o e aTfeus 1 $EAATT FId & / Finned evaporators are used on air-
conditioning application to
a) effae g@?»r Hclg W I wdie I THHRS LT / Equalize air flow over the cooling coil surface

b) =T 31T &I Uehadl / Prevent moisture camy-over
) i g & THTdT 817 &1 faFar / Extend the effective area of the cooling surface
d) 3TATETRIUT &THGT &1 §gl=T / Increase the dehumidifying capacity

g TAa-STe aTcTegelet oo A, foreafaf@a arfeas &r s faam i g
In chilled-water air-conditioning application, the following evaporator is used:
a) e THR YR Al a1fsu+ / Dry expansion type evaporator

b) e 3R TIF TR I gl W / Shell and tube type chiller
c) &fa 9ISy arfsy+ / Double pipe evaporator
d) 3 &§ A F15 oTal / None of the above

wefrareT yorel &7 faar stel eias 3carfed f3am SiTar & / The part of a refrigeration system where
cooling is produced is

a) arfsu=/ Evaporator

b) HR=/ Condenser

c) 3TRAEY / Receiver

d) I el / Capillary tube

aTfeus 3 vder Fa GAY i T T HTEAT 52

What is the state of the refrigerant when it enters into the evaporator?
a) 3% g, fAF argHATe / High pressure, low temperature

b) e gre, HEIH ATIHAT / Low pressure, Medium temperature

c) fow= e, e arg#TT / Low pressure, low temperature

d) #HEIHA rd, [AFT argAT / Medium pressure, low temperature

| e &t (reftewr 7 ararggee) - SSNSTE / Technician B (Ref. & A/C) 2016 - IPRC
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26 afﬁaqana;rm%#mﬁ:rﬁmmﬁmwﬁqa‘wm%

Refrigerant enters the condenser of a mechanical refrigeration system as a
a) A% 219 7/ Low pressure gas

b) 3= 19 34 / High pressure gas

) AT a9 ga/ Low pressure liquid

d) 3%T &9 9/ High pressure liquid

27 58 5o A ThaH & FIYUATH I IRafdT fvar o7 gerar & / The boiling point of a refrigerant can be
varied by altering the
a) YER dTed $T AT 3raeamas / Superheat setting of the expansion valve
b) e Jomelt & 37e% @ are / Pressure within the refrigeration system
) SOl & 1T T Y rawergey Setting of the thermostat in the system
d) wftereh &Y 7# AT / Moisture content of the refrigerant

28 ﬁmﬁf@awﬁaﬁﬁmﬁmwmmﬁ?
Which one of the following refrigerants has the lowest boiling point?
a) R-11
b) R-12
¢) R-22
d) R-717

29 ﬁmﬁ@a#@aﬁamﬁmanmmaﬁmﬁamramwmm%?/wmch one of the

following refrigerant has the lowest relative Ozone Destruction Efficiency?
a) R-11

b) R-12

c) R-22

d) R-114

30 BrEfRRT S T 3101 Gefiefeh & foIw aieefi=r 2 / Which of the following property is desirable in a

refrigerant?
a) T F9U=F / Low boiling point

b) 3= ifd ATIAT / High critical temperature
C) aISUS &y 3Ty e ITAT/ High latent heat of vaporization
d) 3WIFT 7 Tl / All of the above

31 yefraer yorrely Iy & RAra & @91/ The leakage of air into the refrigeration system will
a) FHS AT Z&TAT T F37 F11 / Lower its cooling efficiency
b) 3T A= carar Y gerwam/ Increase its cooling efficiency
€) 3u% M GaTal W FIE yamrg =161 / Have no effects on its cooling efficiency
d) C.O.P. I §gTUaT / Increase the C.0.P.

32 gumrel 3% welas & FH GRIT Far ¥/ The shortage of the refrigerant in the system will indicate
a) A% AT F9ERT / Low superheat temperature
b) AT ga Y@r arvaEET / Low liquid line temperature
©) et gwor 3k e grereTar / Low suction and head pressure
d) 39T F A FE 78/ None of the above ’

TR & (T T AT - SRR [ Technician B (Ref. & AIC) 2016 - IPRC | 5]
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33 Gnattar & 39T & weltae womel 7 Rgra fraw 9ar gefdl § / The leakage in a refrigeration system
using Freon is detected by

a) UEfe el / Acetylene torch
b) &dgs <A / Halide torch

c) et $T B3 / Sulphur sticks

d) WG T T1e / Soap water

34 IrarteT F o9 @Wiey yerf @I dlis fehar srar ¥ uIg 32T & 7 / When foodstuffs are loaded into a
refrigerator, it is essential that
a) Hideie ¥ oS T T ST Wie TET W S §
the coldest foods are placed at top of the cabinet
b) T ¥ A Ged ST Qe e 1@ Sl §
the coldest foods are placed at the bottom of the cabinet
c) ﬁﬁ%ﬁﬁmﬁéﬁmﬁ%mmmmm%
space is left for air to circulate around the packages
d) mﬁﬁmﬁaﬁ?ﬁa@ﬁﬁmmwmm%

space is left for packages to expand and contract

35 S ee WhoRe 1 JifASaITe & &, =Y &A1 ¥ GHAAAT HAT AMGT cllfeh
When |nstalllng a domestic refrigerator, it's should be leveled carefully in order to
a) &fdce & Teleld ¥ 9 / Avoid spillage of the condensate

b) TE del TR H ST TW / maintain the correct oil level
¢) feaa e WX sl & TG / reduce vibration when switched on
d) welide & TE vaTg &l giaRad & | ensure correct flow of the refrigerant

36  Tavor eI Ro¥ T YT 81T & / Relay is protection device used in
a) @A/ Condenser
b) TdI3a / Compressor
c) arfsu= / Evaporator
d) g ¥2rdr / Thermostat

37 ag ¥ U aE A HFd ST %Y aT STelT & / A space completely free from air is called
a) R&d/Empty
b) f&ala/Vacuum

c) =ggol/ Neutral
d) wareides / Natural

38 YfroReT & YR (So§) &I FETeld #dT & / The refrigerator light (bulb) is operated by
a) Rel/Relay
b) o T / Thermostat
¢) 3N.uc.dl./OLP
d) 3R T&gw / Door switch

6 \ aEARge ot (wefider T ardrege) - TSI / Technician B (Ref. & A/C) 2016 - IPR&I
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39 Ao w3 AT & / A thermostat senses the
a) di9HAET/ Temperature
b) &S/ Pressure
€) 3T / Humidity
d) SRIFT F A F1E T / None of the above

40 a9 T H3ew oo fhaw aRT 3§ / A thermostat's feeler bulb is filled with
a) W STS3EATSE / Sulphur dioxide
b) e sTE3tEFATES / Carbon dioxide
C) $EIT / Nitrogen

d) a9 g9/ Volatile liquid

N Foedy AT Soq Y Ry g R ST & / A thermostat's thermal bulb is fastened to
a) &R/ Condenser
b) T ¥&@/ Liquid line
¢) 1T/ Evaporator
d) vERareg/ Expansion valve

e %mﬁ@aﬁ#ﬁamﬂw\mﬁﬁaﬂaﬁtﬁmﬂ?ﬂaﬁwﬁmaﬁm%ﬂwmw one of

the following is NOT used as insulating mat;erial in domestic refrigerator?
a) %/ Cork

b) ™5 wIER / wood fibre

€) oI 3T/ Glass wool

d) &I/ Rubber

B AR 3CHY AISHIHCT FT yar ey ST § / A sling psychromotor is used to measure
a) e Y Tod ATHT / Only dry bulb temperature
b) aer I Tox argEET Only wet bulb temperature
) UH HR 3T so7 argHH Dry and wet bulb temperature
d) 3I& 31&ar / Relative humidity

44 3o ar o gar faegeRieh @t 22 / Which s the most efficient insulating material?
a) & 1/ Corkboard
b) T BISER 2fie / Glass fibre sheet
¢) WA WIgeR 2fie / Mineral fibre sheet
d) WIHS IRAT 2fie / Foamed urethane sheet

45 arofs ofras 3/ In evaporative cooling
a) YA HdeH FeAT Y ST ST  / Sensible heat is added to the air
b) A IeT FwAT FY EErer STl & / Latent heat is removed from the air
©) g ffad 3k anfg T ST & / Airis cooled and humidified
d) g ffaT 3R sEita R sar &/ Airis cooled and dehumidified

e G T G Y ser —— (Ref. & AIC) 2016 - IPRC
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48 g & SO & gftade 191 / The dehumidification of air will change its
a) b Sed drgATe / Dry bulb temperature

b) 37TE ed argATs / Wet bulb temperature

c) 3T&ar / Humidity

d) 39ed H FT / All of the above

47

48

49

50

51

52

ST & g2eT fw Ser arer ¢t WoTrel § / The cooling system used in aircraft is
a) a9 HdlEsT YuTTell / Vapour compression system

b) aTST 3GLITIUT JUTTel / Vapour absorption system

c) arg ush TR wurrelT / Air cycle refrigeration system

d) #T9 S ST aTsT JuTTell / Steam jet water vapour system

arg et fRf¥a #ar & / A thermostat controls the
a) @Ifeys drqATe / Evaporator temperature

b) &7 aTIHAT / room temperature

¢) HenRF argATe / condenser temperature

d) Wi dT9HATe / refrigerant temperature

e &7 A § / The function of an accumulator is to

a) a1 & AT I g HeA / Remove heat from the room

b) weiide yaTg &I ff3d a1/ control the refrigerant flow

) Tuur AR AFEReT e @Y s{TeT T / equalize suction and discharge pressure
d) Eds® A gg I (et / prevent liquid to compressor

ammwwmaﬁa’rmw:#a%’rm% 3 ST ST &
The air which does not come in contact with the cooling coil while passing over it, is known as
a) 3G arg / Wet air -

b) Hqeaarg/ saturated air
c) Yo arg | dry air
d) 3uAEarg/ bypass air

aieys & iead aea weiide® &1 3/a€m 213l / The condition of the refrigerant when it leaves the
evaporator should be

a) &d/ Liquid

b) a9/ vapour
c) a 31 arsg & AT / mixture of liquid and vapour

d) o/ solid

rrtaTag weiiast & & @l a1 fader §2/ Which one of the following refrigerants is toxic?

a) R-11
b) R-12
¢ R-22
d) R-717

| e & (wefee @ arrger) - &3 / Technician B (Ref. & A/C) 2016 - IPRCJ
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a) T®YaT T11a / Spring tension

b) &I &7 / Gravitational force

c) fra & iR g3 ¥ / Slanting level of the fridge
d) g Aedhe / Magnetic gasket

54 aTdlelshelsT # 3vd YaTg faa sieifsa & / The cold air flow in air-conditioning is calibrated in
a) 9IRHHUT 9 AT / Revolution per minute
b) fhaleIex ufer Her / Kilometre per hour
¢) E=%e 9fa fAfse / Cubic foot per minute
d) U3sH 9fa @t S/ Pounds per square inch

55 gomreh # yehae-22 T YT Y T W %mmmmwmmm%/ The
effect of using refrigerant-22 in a system is that the compressor lubricating oil charge is circulated
a) %ad TNSF T/ in the compressor sump only

b) & EHT R yomey 3/ throughout the system at all times
€) &ae e araHE oy & TRT 3R / around the low temperature system only
d) TS 3T ATIART Yo % TRT 3R / around the high temperature system only

56 maﬁaﬁﬁjﬁaﬁaﬁmw@a?eﬂamﬁamwmm%,wm%:

The coil of copper tubing through which cold refrigerant flows is called:
a) HUTRT/ Condenser

b) a1fS4= / Evaporator
€) 9 ¥4 / Thermostat
d) dSH / Compressor

57 mﬁaawnﬁré:aamﬁﬁagaﬁfﬂamﬁ#mﬁmmm%
The Liquid line of a refrigeration system may be insulated to minimize
a) ¥ / Condensation

b) FTATEIMH / heat loss
C) FAT AT / heat gain
d) FSHAT HcROT/ heat transfer

58 el Whakex 7 sam9e w7 F g T ST arelr weftass ¥/ The refrigerant widely used in domestic

refrigerator is
a) 37AMAIT / Ammonia
b) e STEITFATESE Carbon dioxide

C) W SIS3HTFETSS / Sulphur dioxide
d) R-12

Lam::amwahaa q AdIFH ) - IENIRH / Technician B (Ref. & A/C) 2016 - IPRC :
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59

60

gefides 3 ) &I e eaRT faerelr ST & / The moisture in a refrigerant is removed by
a) aifSq=/ Evaporator

b) @RaT fasrae ared / Safety relief valve

¢) fa3mée / Dehumidifier

d) 3w/ Driers
Ay & Haegefide & aRie &A@l AT 8
During sensible cooling of air decreases.

a) 31T Sod a9 / Wet bulb temperature
b) 3mifeIs 3TeaT / Relative humidity

c) e Sod dIHTT | Dry bulb temperature
d) fafrse 3mgar / Specific humidity

Area for Rough Work

| aweitRrae @ (vehet 7 arrege) - STEN3mE / Technician B (Ref. & A/C) 2016 - IPRC
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Question Booklet Code A

Q. No. Ans. Key Q. No. Ans. Key
01 A 31 A
02 C 32 C
03 A 33 B
04 (04 34 A
05 D 35 C
06 D 36 B
07 C 37 B
08 B 38 D
09 D 39 A
10 A 40 D
11 D 41 C
12 C 42 D
13 C 43 C
14 A 44 D

- 15 C 45 C
16 B 46 C
17 B 47 C
18 C 48 B
19 B 49 D
20 C 50 D
21 A 51 B
22 C 52 D
23 B 53 D
24 A 54 C
25 C 65 B
26 B 56 B
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